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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 39226621561 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

On 16™ April. 2024 World Literacy Prize of the World
Organization of Writer (WOW) was awarded to

1. Alice Walker
o Mamta G. Sagar

fad

Arundhati Roy
4. Harper Lee

Options :
1. %1
2.9 2
3.%3
4, % 4



Question Number : 2 Question Id : 39226621562 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the correct pair
1. Indian Institute of Soil Science - Lucknow

2, Indian Institute of Natural Resins - Chikkmangaluru

fad

CSIR Institute of Microbial Technology - Chandigarh

4, Indian Institute of Chemical Biology -
Thiruvananthapuram

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 3 Question Id : 39226621563 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify correct pair regarding country and its National flowers

1. Bangladesh a. Lotus

ii. Japan b.  Hibiscus

1.  India c.  Water Lilly

iv.  Malaysia d.  Cherry Blossom
1. i-d 1i-c¢ ii-a iv-Db

2. i-d 1-b 1i-c iv-a

i-b 1-c¢ m-a 1w-d

L

4. i-c¢ 1-d 1i-a iv-Db

Options :
1. % 1
2. %2
3.%3
4, 4



Question Number : 4 Question Id : 39226621564 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Match the following with respect to scheme
1.  PM Janjativa Vikas Mission a. Traditional artisans

ii. PM Vishwakarma Scheme b. Tribal digital literacy

iil. Janjatiya Gaurav Divas c. Tribal development
iv. GOAL d. Honour tribal freedom
fighters
. 1-¢ 1-a ui-d 1w-Db
2, i-d m-a ii-b 1v-c
1 i-b 1m-a 1u-d iv-c
4. i-a 1m-d ii-b iv-c
Options:
1.¥1
2. %2
3.%3

4. % 4



Question Number : 5 Question Id : 39226621565 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the correct statement/s
A.  NIRDESH is an institute under the Ministry of Defense.
B Its Head office 1s at Calicut.
I A 1s correct. B 1s incorrect
2. A 1s incorrect, B 1s correct

A and B are correct

fd

4, A and B are incorrect

Options :
1. %1
2. %2
3.3
4. % 4



Question Number : 6 Question Id : 39226621566 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct set

1. Sitar a. Pannalal Ghosh
1. Tabla b. Bande Hasan
111. Flute . T N Krishnan
v. Violin d. Allah Rakha
1. 1-b 1n-d = 3 V- C
2 j= ¢ - d ili=b Iv- a
3: = - d i~ b V- C
4. i~ d in-b 1i- a iv- ¢

Options :

1.4 1

2. % )

3. %3

4. % 4



Question Number : 7 Question Id : 39226621567 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following regarding computer Key board shortcuts
in MS-Word.

1. Cul+ A a. Open new blank document
ii. Ctrl + R b. Select all
i, Cul+N c.  Centre alignment
iv. Cul+E d.  Right alignment
£ i-a 1-b 1i-d iv-c¢
2 i-b 1-d ii-a iv-c
i i-c¢ 1-d i1i-a iv-Db
4. i-d 1u-b 1i-c¢ iv-a
Options :
1. %1
2.¥2
3.%3

4. % 4



Question Number : 8 Question Id : 39226621568 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding books and authors

1. Anna Karenina a. Charles Darwin
11. Descent of Man b. Jane Austen
iii, Long Walk to Freedom c¢. Leo Tolstoy
iv.  Pride and Prejudice d. Nelson Mandela
1. 1- a - C 11- b - d
1% 1- ¢ 1n- a m-d 1w-Db
3. 1-b 1u-c im-d 1v- a
4, 1- ¢ 11-b 1i-a - d
Options :
1. % 1
2.¥2
3. % 3

4. % 4



Question Number : 9 Question Id : 39226621569 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mismatched pairs among the following

a. Badminton - Holkar Cup
b. Cricket - Sheesh Mahal Trophy
C. Hockey - Lady Ratan TATA Cup
d. Tennis - Radha Mohan Cup
L. a. d
2 a. c
3. a, b
4. a.b.c
Options :
1.¢1
2. %2
3.%3
4. % 4

Question Number : 10 Question Id : 39226621570 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Tropic of Cancer crosses twice through this river

1. Mahi
2 Sabarmati
3. Indus
4, Dameodar
Options :
1.4 1
2. %2
3. %3

4. % 4



Question Number : 11 Question Id : 39226621571 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Ellora Caves : Aurangabad : : Elephanta Caves :

1. Mumbai

2. Jabalpur
3. Udaipur
4. Agra

Options :

1.41

2. %2

3.%3

4. % 4



Question Number : 12 Question Id : 39226621572 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct pairs related to players and their nicknames

a. David Beck Ham - White Pearl
b. Kapil Dev - Haryana Hurricane
€. Don Bradman - The Don
d. Imran Khan - Pocket Dynamo
i b.c.d
2. a.b
3. b.c
4. ¢.d
Options :
1. % 1
2. % 2
3.3

4. % 4



Question Number : 13 Question Id : 39226621573 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Carbon dating’ 1s useful to measure

1. Fossils age

-2

COIH}JHFEI’ accuracy

Planets distance

(S ]

4. Air pressure

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 14 Question Id : 39226621574 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose incorrect matching from the following

i World Red Cross Day - 8™ May
2. World Tourism Day - 27" October
3, World Senior Citizens Day - 21% August
4. World Books and Copy Right Day - 23" April
Options :
1. % 1
2.¥2
3.%3

4. % 4



Question Number : 15 Question Id : 39226621575 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mismatched pair regarding archaeologists and their
contributions.

1. Sir John Marshall Formal announcement of

discovery of Indus valley

civilization
2. R. D. Benerjee - Discovery of Mohenjo Daro
3. V. S. Wakankar - Discovery of Bhimbetka
rock caves
4. Alexander Cunningham - Father of Archeology
Options :
1. % 1
2. %2
3.%3
4.4 4

Question Number : 16 Question Id : 39226621576 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

These sea turtles are in danger along the sea cost of
Andhra Pradesh and Tamil Nadu

1. Olive Ridley sea turtles
2; Hawksbill sea turtles
3. Flat back sea turtles
4. Loggerhead sea turtles
Options:
1.41
2. %2

3. %3
4. % 4



Question Number : 17 Question Id : 39226621577 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘Paramparagat Krishi Vikas Mission’ is for the promotion of

L Low cost agriculture devices

-2

Zero budget natural farming
3. Animal husbandry

4, Urban forestry

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 18 Question Id : 39226621578 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following have participated in the 8" edition of Pariksha
Pe Charcha along with the Prime Minister of India

a. Mary Kom
b. Jaggi Vasudev
C. Avani Lekhara
1. a.b
2. b.c
¥ a, C
4, a.bc
Options :
1. % 1
2. % 2
3. % 3

4.9 4



Question Number : 19 Question Id : 39226621579 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

They are NOT the recipients of Major Dhyan Chand Khel
Ratna Award - 2024

a. Harmanpreet Singh. Praveen Kumar
b. Subhash Rana. Deepali Deshpande
& Gukesh. Manu Bhaker

d. Sandeep Sangwan, Muralidharan
1. a.b
2. a.b.d
3. b.d
4. a.c.d
Options :
1. % 1
2. %2
3.3

4. % 4



Question Number : 20 Question Id : 39226621580 Question Type : MCQ Option Shuffling :
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the correct answer
i.  Gymnastics World Cup a. Manisha Barnwal
ii. Asia Wrestling Chairpersonship ~ b. Purnima Devi Barman
iii. Time magazine woman of the year ¢. Pranati Nayak

1. 1-a 1-b 1i-c

!“J

i-¢c 1-b 1i-a

i-b 11-c 1i-a

LS

4. i-¢ 1-a 1i-Db

Options :
1. %1
2. % 2
3.% 3
4. ¥ 4

Section 2
Section Id : 392266676
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266746

Question Shuffling Allowed : Yes



Question Number : 21 Question Id : 39226621581 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Number of articles in the Universal Declaration of Human
Rights (UDHR)

1. 13
2, 23
3. 20
4. 30

Options :

1. %1

2. % 2

3.%3

4. 4

Question Number : 22 Question Id : 39226621582 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Sanatorium class is a

1. Home tuition

2. Health class
Audio visual class
4. Art class

(S ]

Options :
1. % 1
2.9 2
3.%3
4. % 4



Question Number : 23 Question Id : 39226621583 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Foundation for Research in Community Health 1s an
organization for

1. Urban population health services

Z. Clinical drug trials conduction

-

5 Health revolution by voluntary services

4. Foreign medical institutions funding

Options :
1. % 1
2. %2
3.¥3
4, % 4

Question Number : 24 Question Id : 39226621584 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Establish a neighbourhood school for every one kilometer” is
the recommendation of

E. Secondary Education Commuission - 1953
2. National Education Commission - 1966
3. Eswaribai Patel Committee - 1977

4. Dr. Malcolm Adiseshiah Commuittee - 1978

Options:
1. %1
2.¥2
3.%¥3
4, % 4



Question Number : 25 Question Id : 39226621585 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In Jamism. the word ‘Gina’ means
1. A sacred text

2. A temple priest

3. A conquer of inner passion

4, A follower of Mahaveera

Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 26 Question Id : 39226621586 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Preparation of Western Oriented Gentlemen was the
intension of

1. Charles Grant
2 St. Helena
3. Lord Macaulay

4. Charles Wood

Options :
1. % 1
2. % 2
3.3
4. % 4



Question Number : 27 Question Id : 39226621587 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match commuittees and their recommendations. find correct

answer

i. Malcolm Adiseshaiah a. Special schools for
Committee differently abled children

ii. Poornananda Committee  b. Agriculture research centers
iii. Sargent Committee c. Vocational Curriculum
iv. Elphinstone report d. National Integration
1 i—a, 1u-b, m-c, iv-d
2. i—-b, 11—-d, ili—c, iv-—a
3. i—c, 1i—d, m-a, 1v-Db
4, i—a, 1—-d, 1m-c, iv-b

Options :

1. % 1

2. %2

3.3

4. % 4



Question Number : 28 Question Id : 39226621588 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘To attain the goals of NPE 1986 in ECCE, Cooperation of
voluntary organizations is needed.” according to the
recommendation of

1. Acharya Ram Murthy Committee
2. N. Janardhan Reddy Committee
3 Programme of Action - 1992

4. District Primary Education Programme DPEP-1994

Options:
1. % 1
2. %2
3.3
4. % 4

Question Number : 29 Question Id : 39226621589 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify correct answer regarding ‘EFLU’
a. Started in 1958

b. Offer English. foreign language courses
C. CIEFL is affiliated to it
1. a.b
2 a.b.c
3. b.c
4. a, ¢
Options:
1.1
2. % 2
3.%3

4. % 4



Question Number : 30 Question Id : 39226621590 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Non influencing factor of Teachers Empowerment

1. Teachers profile and personality

-2

Professional developmental opportunities

. ]

3. Students socio economic background

4. Assessment of students’ performance

Options :
1. %1
2. % 2
3.¥3
4, % 4

Question Number : 31 Question Id : 39226621591 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Establishment of Mandal Resource Centers and Teachers
centers 1s an itervention of

1. KGBV
2. SSA
3. RMSA
4, RAA

Options :

1. %1

2.¥ 2

3.%3

4. % 4



Question Number : 32 Question Id : 39226621592 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the best practices with the countries implementing
them.

1. Brazil a. Funda Wande
ii. South Africa b. Basa Pilipinas
1.  Philippines C. Minas Gerais Mission
iv.  Kenya d. Tusome
1. i—c, ii—d, uni—-b, iv—a
2. 1—d. 1i—a. 1i-b, 1v—c
3 i—a, i—c, ii—-d, iv->
4, i—c, ii—a, 1ui-b, 1v-d

Options :

1. %1

2. % 2

3.%3

4. 4

Question Number : 33 Question Id : 39226621593 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following 1s NOT a children’s right mn RTE - 2009
1. Right to Participate

2 Right to Protection

3. Right to Development

4. Right to Nationality

Options :
1. %1
2. %2
3.%3
4.9 4



Question Number : 34 Question Id : 39226621594 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Behaviour based on moral values is virtuous.™ opined by

1 Becon
2. Herbert
3. Whitehood
4. Ross
Options :
1. %1
2.9¥2
3.% 3
4. % 4

Question Number : 35 Question Id : 39226621595 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The percentage of financial support to voluntary organization
for the establishment of special schools for Minority girls
under Area Intensive Programme for Educationally Backward
Minorities Scheme,

1. 100%
2. 50%
3. 30%
4. 25%

Options :

1.9 1

2. % 2

3.%3

4. % 4



Question Number : 36 Question Id : 39226621596 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

True statement/s related to Article 41 of the Indian

Constitution
A)  The State must provide the rights with in its economic
capacity.

B)  The State must provide public assistance for disablement
unemployment, old age and other cases of undeserved

groups.
I Statement A 1s correct: Statement B 1s incorrect
2 Statement A 1s incorrect: Statement B 1s correct
% Statement A 1s correct: Statement B 1s correct
4. Statement A 1s incorrect; Statement B 1s for CWSN only
Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 37 Question Id : 39226621597 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘PRASHIKA’ of Ekalavya Programme is a/an
1. Initiative to develop TLM for schools

2. Primary Education Training Programme
3. Name of the street play conducted by Ekalavya
4. Multitask multilevel teaching strategy

Options :

1. %1

2.¥2

3.%3

4. % 4



Question Number : 38 Question Id : 39226621598 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Important slogan of National Curriculum Frame Work -2005
educational planning is

1. Learning to Learn
2. Learning for Eaming
3. Learning to Do

4, Learning without Burden

Options :
1. %1
2. % 2
3.%3
4.9 4

Question Number : 39 Question Id : 39226621599 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The factor of motivation in teachers to perform their
professional duties with interest in a school with harmony and
greenery is

1. Intrinsic factor
2 Extrinsic factor
3. Achievement factor
4, Incentive factor
Options :
1.4 1
2. %)
3. %3

4. % 4



Question Number : 40 Question Id : 39226621600 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Correct statement/s related to Scholarship scheme SAKSHAM
A, SAKSHAM - Given to differently abled students.

B. Its amount 1s Rs. 5 crores per 5 years as tuition fees

1. A correct. B correct

2 A correct, B incorrect

A incorrect. B correct

Tad

4. A mcorrect, B incorrect

Options :

1. %1

2.¥ 2

3.% 3

4, % 4

Section 3

SectionId : 392266677
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266747

Question Shuffling Allowed : Yes



Question Number : 41 Question Id : 39226621601 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Inadequate physical or mental development may result in a
socially or emotionally maladjusted personality’. The
development principle related to this statement 1s

Principle of interaction

1
7.3 Principle of interrelation

[N

Principle of continuity

4. Principle of integration

Options :
1. %1
2.¥ 2
3.%83
4. % 4

Question Number : 42 Question Id : 39226621602 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Animism’ is a limitation in the following stages of cognitive

development
1 Intuitive phase
2. Pre operational stage

L |

Formal operational stage

4. Concrete operational stage

Options :
1. %1
2.9 2
3.%3
4. % 4



Question Number : 43 Question Id : 39226621603 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A student learns concepts by performing experiments in the
laboratory. According to Guildgart this student is a

1. Visual learner
2 Auditory learner
3. Bodily Kinesthetic learner

4. Guided learner

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 44 Question Id : 39226621604 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mismatched pair among following with respect to Erikson’s
theory of psychosocial development

Period Psychosocial crisis
1. School age Industry - Inferiority
2. Adolescence Intimacy - Isolation
3. Middle adulthood Generative - Stagnation
4. Play age Initiative - Guilt
Options:
1. %1
2.¥2
3.%3

4. % 4



Question Number : 45 Question Id : 39226621605 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The correct sequence of ‘Play development’ in children is
1 Solitary play, Parallel play. Social play

2 Social play. Solitary play. Parallel play

Tad

Parallel play. Solitary play. Social play
4, Parallel play. Social play. Solitary play

Options :
1.1
2. %2
3.%3
4, % 4

Question Number : 46 Question Id : 39226621606 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Following 1s NOT a group test of intelligence

1 Army Alpha test
2. Army Beta test

L |

Ravans Standard Progressive Matrices

4. Binet Simon test

Options:
1. %1
2. %2
3.%3
4, 4



Question Number : 47 Question Id : 39226621607 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Wrongly matched pair among the following

1. Theory of Identical Elements — E L Thorndike

Theory of Generalizations - Bruner

I-J

[N

Theory of Ideals - Bagley

4. Transposition theory - Gestaltists

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 48 Question Id : 39226621608 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to following psychologist “Learning is nothing but
stamping in of correct responses and stamping out of incorrect
responses through trial and error”

1. Kohler

2. Skinner
Pavlov

4. Thomdike

(9]

Options :
1. %1
2. % 2
3.%3
4, 4



Question Number : 49 Question Id : 39226621609 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In the following experiments on learning. only the ‘emitted’
responses are reinforced.

L. Skinner’s experiment

2. Pavlov’s experiment

3. Thorndike experiment

4. Both Pavlov and Skinner’s experiment

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 50 Question Id : 39226621610 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A boy neither wants to do homework nor to be punished by his
class teacher for not doing homework. The conflict of him is
1 Avoidance — Avoidance Conflict
2. Approach — Approach Conflict
3. Approach — Avoidance Conflict
4, Double approach — Avoidance Conflict
Options:
1.¥1
2. %2

3. %3
4. % 4



Question Number : 51 Question Id : 39226621611 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In an experiment, the psychologist wants to know the impact
of toy based pedagogy on the academic achievement of
students. In this experiment “academic achievement of
students’ 1s a/an

L. Independent variable

12

Dependent variable

LS

Intervening variable

4. Interfering variable

Options :
1. % 1
2.¥ 2
3.%3
4. % 4

Question Number : 52 Question Id : 39226621612 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A girl learnt a list of 16 meaningless words n 16 attempts.
After a month she was asked to relearn the same list of 16
meaningless words. This time she took 4 attempts to learn.
The saving score of the girl is

1 25%
2. 50%
3 75%
4, 16%

Options :

1. %1

2. % 2

3.3

4. % 4



Question Number : 53 Question Id : 39226621613 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Headmaster observing students playing in the ground from his
office room - This 1s

Participant observation

1
2. Controlled observation

Tad

Non - participant observation

4, Experimental observation

Options :
1. % 1
2. %2
3.¥3
4, % 4

Question Number : 54 Question Id : 39226621614 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Cross sectional approach mvolves

Experimental studies only

1
2 Looking at people of different age at same time period

(8]

Collection of data for longer period.

4. Manipulation of variables to get result

Options :
1. %1
2.¥ 2
3.%83
4. % 4



Question Number : 55 Question Id : 39226621615 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the mcorrect pairs related to defense mechanism

a. Reaction formation - Laughs in sad situations
b. Regression - Acts like a child
& Repression - Mind hides happy moments
d. Denial - Refuse to accept untruth
1. a.b
2. c.d
3 a.c.d
4. a.b.d

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 56 Question Id : 39226621616 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Athetosis. Ataxia are related to

1. ADHD
2, Dyslexia
3. Aphasia

4. Cerebral Palsy

Options :
1. %1
2. %2
3.%3
4.¥ 4



Question Number : 57 Question Id : 39226621617 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Non Directive Counseling was proposed by

1. Williamson
2. Carl Rogers
3. FC Thom
4, Sigmund Freud
Options :
1. % 1
2.2
3. %3
4, % 4

Question Number : 58 Question Id : 39226621618 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
X and Y axes of Ogive curve are (respectively)

L. Mode and Cumulative Frequencies

-2

Upper class boundaries and Cumulative Frequencies

fd

Relative Frequencies and Class Intervals

4. Midpoint of a class and Frequencies

Options :
1. %1
2.9 2
3.%3
4, % 4



Question Number : 59 Question Id : 39226621619 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the mismatched pair related to the psychologists and
their books

1. Galton - Frames of Mind: The Theory of
Multiple Intelligence
2 Spearman - Abilities of Man

L |

Educational Determinisin

W. C. Bhagley
4, L. Thurston

Primary Mental Abilities

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 60 Question Id : 39226621620 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This 1s not a measure of variability
1. Range

2. Average

Tl

Quartile deviation

4. Mean deviations

Options:
1. %1
2.9 2
3.%3
4. % 4
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Question Number : 61 Question Id : 39226621621 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The assumptions of law of diminishing marginal utility, does
not include the following:

1. Rationality

2. Cardinal measurement of utility

4 Hypothesis of dependent utility

4, Constant marginal utility of money

Options :
1. % 1
2. % 2
3.3
4. % 4



Question Number : 62 Question Id : 39226621622 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
If two indifference curves mtersect. i1t would imply that an
indifference curve indicates:
1. Same level of satisfaction
2. Two different levels of satisfaction
3. Higher level of satisfaction
4. Lower level of satisfaction
Options :
1. % 1
2.¥2

3.%3
4. % 4

Question Number : 63 Question Id : 39226621623 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

At consumer’s equilibrium, if P, = 10. Py = 20. MU, = 25, then
calculate MU :

1. 6.5
z 18.5
3. 2.5
4. 8.5

Options:

1. %1

2. %2

3.3

4. % 4



Question Number : 64 Question Id : 39226621624 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

When less units are demanded at higher price, then it 1s called
as:

1. Extension of Demand

2 Increase in Demand

3. Decrease i Demand

4. Contraction of Demand

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 65 Question Id : 39226621625 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The concept of consumer’s surplus was first developed by the

Economist:
1. J. B. Say
2 J. M. Keynes

3. A. J. Dupit
4. J. R. Hicks

Options :
1. %1
2. % 2
3.¥3
4, % 4



Question Number : 66 Question Id : 39226621626 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Demand for goods that are used in the production of some
other goods may be termed as:

1. Direct Demand

2. Derived Demand

]

3. Income Demand

4, Antonomous Demand

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 67 Question Id : 39226621627 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If total expenditure decreases with a fall in the price. then price
elasticity is:

L, ep < 1
2. ep=1
3. ep=0
4. ep=1

Options :

1.¥1

2. %2

3. %3

4. % 4



Question Number : 68 Question Id : 39226621628 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If price of a commodity falls from Rs. 12 to Rs. 10 and
quantity demanded rises by 5%. then calculate price Elasticity
of Demand

E: —0.25
2. 0.25
3 —-0.3
4. 0.3

Options :

1. % 1

2. % 2

3.3

4. % 4

Question Number : 69 Question Id : 39226621629 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Under law of variable proportions, the slope of TP 1s zero,
when:
1. MP 1s constant
2. MP 1s zero

3. MP rises
4. MP falls

Options :
1. % 1
2.9 2
3.%3
4, % 4



Question Number : 70 Question Id : 39226621630 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If total fixed cost = Rs.10. total cost at “2” units 1s Rs. 50. then
calculate average variable cost at *2” units

1. Rs. 20

2. Rs. 25

3. Rs. 50

4. Rs. 40

Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 71 Question Id : 39226621631 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The vertical difference between TC & TVC 1s equal to:

B AFC
2. TEC
3. AVC
4. ATC

Options :

1. %1

2.¥ 2

3.%3

4. % 4



Question Number : 72 Question Id : 39226621632 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Adam smith regarded pains and sacrifices of labour as:
1. Money cost
2. Marginal cost
3 Real cost
4. Variable cost
Options:
1. % 1
2. %2

3.4 3
4. % 4

Question Number : 73 Question Id : 39226621633 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Under Cob-douglas production function, the share of capital
and labour was:

th th

1. — and I respectively

th th

1 :
and 2 respectively

rd th

and I respectively

L |

th - 1d
4, 7 and f respectively
Options:
1.¢1
2. %2
3.%3

4. % 4



Question Number : 74 Question Id : 39226621634 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The concave shape of Production Possibility Curve (PPC) is
due to :
k. Increasing opportunity cost
2. Decreasing opportunity cost
3 Constant opportunity cost
4. Equal opportunity cost
Options :
1.1
2. %2

3. % 3
4. % 4

Question Number : 75 Question Id : 39226621635 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Decreasing returns to scale are associated with:
1 Decreasing costs

2. Increasing costs

Constant costs

LS ]

4. Similar costs

Options :
1. %1
2.9 2
3.%3
4, % 4



Question Number : 76 Question Id : 39226621636 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The difference between current earnings of the factor and
transfer earnings is known as :

i Contract Rent
2. Scarcity Rent
3 Quasi Rent

4. Economic Rent

Options :
1. %1
2. % 2
3.%3
4. 4

Question Number : 77 Question Id : 39226621637 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If price decreases from Rs. 10 to Rs. 9 and quantity increased
from 2 units to 3 units, then calculate marginal revenue at 3°
units?

T Rs. 6
2. Rs. 7
3. Rs. 8
4. Rs. 9

Options:

1. %1

2.¥2

3.%3
4. % 4



Question Number : 78 Question Id : 39226621638 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Under perfect competition. the individual firm 1s in
equilibrium and earning normal profits in the long-run at:

1. AR=MR=LAC=LMC
2. AR=MC=LAC=LMC
3. AR=MR=LAR =LMR
4. AC=MR=LAC=LMC

Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 79 Question Id : 39226621639 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following 1s not a feature of Monopolistic

Competition?
E. Product differentiation
2, Selling costs

L |

Less elastic demand

4, Freedom of entry and exit

Options:
1. %1
2. %2
3.3
4, % 4



Question Number : 80 Question Id : 39226621640 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If NNP at factor cost = 100. transfer payments = 20,
Undistributed profits = 20, corporate taxes = 10, and social
security contribution = 10, then the value of personal income
15 (in crores):
1. 120
2. 100
3. 80
4. 160

Options :

1. % 1

2. %2

3.3

4. % 4

Question Number : 81 Question Id : 39226621641 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

National Income Estimates Committee (1949) didn’t comprise
of:

L. St1 P.C. Mahalanobis
2, D. R. Gadgil

3 Dr. V.K. R.V. Rao
4. Dr. Amartya Sen

Options :
1. % 1
2. % 2
3.%3
4. ¥ 4



Question Number : 82 Question Id : 39226621642 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The relationship between price. Marginal Revenue (MR) and
Price elasticity in a monopoly market 1s:

r—1
1. MR=AR (L]
44
% W
2. MR=-AC | ——
&
3.  MC=AR i]
e—1
4. MR=AR (LJ
e—1
Options :
1.4 1
2. %2
3. % 3
4. % 4

Question Number : 83 Question Id : 39226621643 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The upper segment of the kinked demand curve indicates:

1. Relatively Elastic
2 Relatively Inelastic
3. Perfectly Elastic

4, Perfectly Inelastic

Options :
1.1
2. %2
3.%3
4. % 4



Question Number : 84 Question Id : 39226621644 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
When the increase in demand 1s less than the increase in
supply. then:
k. Price rises. quantity falls
2 Price falls, quantity rises
3. Price rises. quantity rises
4. Price falls. quantity falls
Options:
1. % 1
2.¥2

3.%3
4. % 4

Question Number : 85 Question Id : 39226621645 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The first economist to propound the behavioural theory of the
firm:

1. W. I. Baumol
2. K. W. Rothschild
a, Mrs. Penrose
4. Herbert Simon
Options :
1. % 1
2. %2

3.% 3
4.9 4



Question Number : 86 Question Id : 39226621646 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In the words of I.D. Summer. the demand elasticity is zero
in case of:

1. Imperfect Monopoly

2. Natural Monopoly

Tad

Pure Monopoly

4, Discriminating Monopoly

Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 87 Question Id : 39226621647 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If GNPy = 100, Indirect taxes = 30, subsidies = 10.
depreciation = 10, then calculate NNPgc (in crores):

1. 60
.5 70
3 150
4, 140

Options :

1. % 1

2.9 2

3.%3

4. % 4



Question Number : 88 Question Id : 39226621648 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The difference between the value of material output and inputs
is known as:

L. Value Added
2. Net exports
3. Net imports
4. Net subsidies

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 89 Question Id : 39226621649 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

GVA at basic price 1s equal to:

1 GVA at Factor Price + Net Product Taxes

2. GVA at Factor Costs + Net Production Taxes
GV A at Factor Costs + Net Product Taxes

4. GV A at Factor Price + Net Production Taxes

LS ]

Options:
1. %1
2.¥2
3.%3
4, % 4



Question Number : 90 Question Id : 39226621650 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

GDP deflator 1s equal to:

Real GDP
1. = « 100
Nomunal GDP
5 Nomunal GDP < 100
Gross GDP
R -
E eal GDP < 100
Net GDP
A Nomunal GDP % 100
Real GDP
Options :
1. % 1
2. % 2
3.% 3
4, ¥ 4

Question Number : 91 Question Id : 39226621651 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The value of aggregate demand function intersected by the
aggregate supply function 1s known as:

1. Income Demand
7.4 Effective Demand
3. Aggregate Demand
4. Aggregate Suppl}f
Options :
1. %1
2.2
3. %3

4. % 4



Question Number : 92 Question Id : 39226621652 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following depends upon the replacement costs of
the capital goods and profit expectations of the entrepreneurs?

1. Marginal propensity to consuine
. Marginal propensity to save
3. Marginal efficiency of capital

4. Marginal propensity of capital

Options :
1. %1
2. % 2
3.3
4, % 4

Question Number : 93 Question Id : 39226621653 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A part of the public revenue 1s deposited into the fund every
year, public debt is repaid from:

1. Refunding

2. Capital levy
3. Conversion
4. Sinking fund

Options :
1. %1
2. %2
3.%83
4.9 4



Question Number : 94 Question Id : 39226621654 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Tt 1s concerned with the income and expenditure of public
authorities and with the adjustment of one to another™, was
stated by:

1. Prof. Hugh Dalton

2. J. M. Keynes

3. Prof. Schumpeter

4, Prof. Paul A. Douglas

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 95 Question Id : 39226621655 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If budget deficit = 50 crores. Borrowings and other liabilities =
20 crores and interest payments = 50 crores, then calculate
primary deficit

1. 20 crores
2, 70 crores
o 120 crores
4. 50 crores

Options :

1.4 1

2. %)

3. %3

4. % 4



Question Number : 96 Question Id : 39226621656 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Investment multiplier is equal to:

1
L. —
1-MPS
TP
1-MES
- 1
; —_
1-MPC
1
g, =
1-MEC
Options :
1. %1
2. % 2
3.3
4, % 4

Question Number : 97 Question Id : 39226621657 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The total value of savings in the economy will either decline
or remain unchanged, this result is known as:

1. Paradox of value
2. Paradox of savings
A, Paradox of multiplier

4, Paradox of thrift

Options :
1. % 1
2. % 2
3.%3
4.¥ 4



Question Number : 98 Question Id : 39226621658 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“When income or consumption increases, investment will
increase by a multiple amount™ is known as:

1. Multiplier effect
- Acceleration principle
3. Consumption principle

4. Investment effect

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 99 Question Id : 39226621659 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Ex-ante mvestment means:

1. Planned investment
2. Actual mvestment
£ Autonomous investment
4. Induced investment
Options:
1.4 1
2. %)
3. %3

4. % 4



Question Number : 100 Question Id : 39226621660 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The nomunal rate of interest corrected for inflation in the
economy. 1s known as:

Market rate of interest

1
2. Natural rate of interest

(S

Classical theory of interest

4. Real rate of interest

Options :
1. % 1
2. % 2
3.%3
4. ¥ 4

Question Number : 101 Question Id : 39226621661 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The curve shows all the combinations of interest rates and
income levels, where the demand for money and the supply of
money are equal:

1. Liquidity trap
2. IS Curve

LM Curve

4 IS — LM Curve

LS ]

Options :
1. %1
2. % 2
3.¥3
4, % 4



Question Number : 102 Question Id : 39226621662 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Loanable funds theory 1s called as:
1. Neo — classical theory
2. Keynesian theory
3. Employment theory
4, Liquidity preference theory

Options :

1.¥1

2. %2

3. % 3
4. % 4

Question Number : 103 Question Id : 39226621663 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Reserve Bank of India was nationalized in the year:

k. 1934
2 1935
3. 1949
4, 1947

Options :

1. % 1

2. % 2

3.¥3

4. % 4



Question Number : 104 Question Id : 39226621664 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which refers to those highly liquid assets which are not
accepted as money. but can be easily converted into money
within a short period of time?

1 Commodity money
2 Near money
3. Paper money

4, High powered money

Options :
1. %1
2.¥ 2
3.%3
4, % 4

Question Number : 105 Question Id : 39226621665 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Inflation caused by the rise in cost of production is known as:
1. Demand pull inflation
2, Cost push mflation
3 Creeping inflation
4. Galloping mflation
Options :
1. %1
2.¥2

3. % 3
4. % 4



Question Number : 106 Question Id : 39226621666 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following is not a function of Reserve Bank of

India?

1. Banker of Government
2. Lender of Last resort
3. Credit controller

4. Banker to the public

Options :
1. % 1
2. % 2
3.%3
4.¥ 4

Question Number : 107 Question Id : 39226621667 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A ratio of change in money supply to change in high powered
money can be expressed by:

1 AM
' AH
AH
. —
AM
3 AM
N AS
4, BF
AM
Options :
1.¥1
2. %2
3. %3

4. % 4



Question Number : 108 Question Id : 39226621668 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Suppose, quantity of money = Rs. 5.000. velocity of
circulation of money = 5 and total output to be
transacted = 2. 500, then calculate average level:

1. Rs. 20 per unit
2, Rs. 10 per unit
3. Rs. 50 per unit
4. Rs. 100 per unit

Options :
1. % 1
2.¥ 2
3.%3
4. % 4

Question Number : 109 Question Id : 39226621669 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A unit of money is used for exchange and transactions in many
number of times. indicates:

I Value of money
2. Circulation of money
3. Velocity of money
4. Capacity of money
Options :
1. %1
2. % 2
3.3

4. % 4



Question Number : 110 Question Id : 39226621670 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Quantitative Credit Control measurement of RBI. excludes:
L. Reverse Repo Rate
2 Cash Deposit Ratio
3. Open Market Operations
4. Statutory Liquidity Ratio

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 111 Question Id : 39226621671 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

An interim budget presented for a few months. pending
presentation of the regular budget:

I Surplus Budget

2 Deficit Budget

Vote on Account Budget
4, Effective Budget

LTS |

Options:
1. %1
2. % 2
3.3
4. % 4



Question Number : 112 Question Id : 39226621672 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Deficit can be reduced by:
A) Increase in Taxes

B) Decrease 1n Taxes

() Increase in Expenditure
D) Decrease in Expenditure
1. Both (A) and (B)

2. Both (B) and (D)

3. Both (A) and (D)

4. Both (B) and (C)

Options :
1. %1
2. % 2
3.¥3
4. % 4

Question Number : 113 Question Id : 39226621673 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following currency notes were no longer legal
tender after demonetization in November. 20167
1. Rs. 100 and Rs. 1000
2. Rs. 500 and Rs. 1000
3. Rs. 100 and Rs. 2000
4. Rs. 200 and Rs. 500

Options :
1. % 1
2.9 2
3.%3
4, % 4



Question Number : 114 Question Id : 39226621674 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The rules under the FRBMA were notified with effect from:
1. August. 2003

2. July, 2004

August, 2004

4. July, 2003

L |

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 115 Question Id : 39226621675 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The highest GST slab rate in India. at present:

1. 36%
it 18%
;3 28%
4, 32%

Options :

1. % 1

2. % 2

3.¥3

4. % 4



Question Number : 116 Question Id : 39226621676 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The deliberate action to stabilize the economy is often referred
to as:

I; Discretionary Fiscal Policy

2 Non-Discretionary Fiscal Policy

Td

Ageregate Fiscal Policy

4. Non - Aggregate Fiscal Policy

Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 117 Question Id : 39226621677 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to 2011 census, the sex ratio in Andhra Pradesh
was (per every 1000 males)

L. 933
2. 947
3. 997
4. 943

Options :

1. %1

2. % 2

3.¥3

4. % 4



Question Number : 118 Question Id : 39226621678 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to 2011 census, the lowest literacy rate recorded
district in Andhra Pradesh was:

1 Anantapur
2. Kurnool
3. Vizianagaram

4, Srikakulam

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 119 Question Id : 39226621679 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Sarva Shiksha Abhiyan was introduced in the year:

1. 2000 - 01
2 2001 - 02
5 2002 - 03
4. 2003 - 04
Options :
1. % 1
2.9 2
3.%3

4. % 4



Question Number : 120 Question Id : 39226621680 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which is the nodal agency for SEZ’s in Andhra Pradesh?
& APSPDCL
2 APSIRD
3. APMDC
4. APIIC
Options:
1. % 1
2. %2
3.%3
4.9 4

Question Number : 121 Question Id : 39226621681 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

To study the economic condition of agricultural labourers in
Krishna district of Andhra Pradesh comes under:

1 Population
2. Sample
3. Research problem
4. Sampling frame
Options :
1. % 1
2. %2
3.3

4. % 4



Question Number : 122 Question Id : 39226621682 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The difference between the largest and the smallest
observations is termed as:

1. Quartile Deviation
2. Standard Deviation
3. Range
4, Mean Deviation
Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 123 Question Id : 39226621683 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which is an alternative to histogram and 1s also derived from
histogram itself?

1. Frequency Diagram
2. Frequency Polygon
3; Frequency Curve
4. Frequency Ogive
Options :
1. % 1
2.9 2
3. % 3

4. % 4



Question Number : 124 Question Id : 39226621684 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Calculate Arithmetic Mean from the following series:
10, 18, 24, 28 and 30

Options :
1. %1
2.¥ 2
3.%3
4. % 4

Question Number : 125 Question Id : 39226621685 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The relationship among Mean. Median and Mode 1s given by:
1. Mode = 2 Mean — 3 Median
2 Mode = 3 Median — 4 Mean

Mode = B Median — 4 Mean

S ]

2 2
cog & : 6 ..
4. Mode = = Median — . Mean
Options :
1. %1
2. %2
3.¢3

4. % 4



Question Number : 126 Question Id : 39226621686 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Calculate spearman’s Rank correlation from ¥ D’=2 and
N=3
1. 0.5
2 1.5
3. 2.5
4. 3.5
Options :
1.¢1
2. %2
3.%3
4. % 4

Question Number : 127 Question Id : 39226621687 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A graphical measure called. Lorenz Curve 1s available for
estimating the following:

1. Mean
2 Mode
| Dispersion
4. Standard Dewviation
Options :
1. % 1
2. %)
3.¢43

4. % 4



Question Number : 128 Question Id : 39226621688 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Karl Pearson’s correlation coefficient lies between:

1 — 1 and +1
2 0and 1
3. 1 and oo
4. — 1 and +eo
Options:
1. ¢ 1
2. %2
3. %3
4. % 4

Question Number : 129 Question Id : 39226621689 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The type of speculators who apply for subscription of new
issues with an expectation to sell them at a premium price.

. Bulls
2 Bears
3. Stags
4. Brokers

Options :

1. %1

2. % 2

3.+3

4. % 4



Question Number : 130 Question Id : 39226621690 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The organization of the SEBI doesn’t consist of the following

members:

1. Chairman

2. Two or three members appointed by the central
government

Tad

One member from amongst the officials of RBI

4, Four members from the officials of the munistries of
central government dealing with finance and law.

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 131 Question Id : 39226621691 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Physical Quality of Life Index (PQ LI). three parameters
doesn’t include the following:

1. Literary Rate
2, Life expectancy at age one
3 Infant Mortality Rate (IMR)
4. Real per Capita Income
Options :
1. % 1
2. %2
3.%3

4.9 4



Question Number : 132 Question Id : 39226621692 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following is not a feature of developing

countries?
1. Abundance of Capital
7.3 High Incidence of Poverty

L |

High density of Population

4. Price Instability

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 133 Question Id : 39226621693 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which unemployment occurs. when there 1s a mismatch
between the workers and jobs?

1. Cyclical

2. Structural
3. Disguised
4, Frictional

Options :

1. % 1

2. %2

3. %3

4.9 4



Question Number : 134 Question Id : 39226621694 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A macro plan formulated for a period of 15 to 20 vears. 1s
known as:

1. Annual Plan
2. Rolling Plan
3. Perspective Plan

4. People’s Plan

Options :
1. %1
2. % 2
3.¥3
4, % 4

Question Number : 135 Question Id : 39226621695 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

12" plan objectives does not include the following:
1

Agriculture growth rate of 4%

2. Increase in literacy rate to 85% by 2017
3. Increase in forest and tree cover to 33%
4. Increase investment in infrastructure as a percentage of
GDP to 6%
Options:
1. % 1
2. %2
3.%3

4.9 4



Question Number : 136 Question Id : 39226621696 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Positive effects of international trade. excludes:
L. Decreases Unemployment
2, Increases Internal and External Economies
3. Increases output levels
4. Adverse Educative effect

Options :

1. % 1

2. % 2

3.%3
4.4 4

Question Number : 137 Question Id : 39226621697 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which measure is removing the upper limit of assets in respect
of firms covered by?
FEMA Act
2 FRBMA Act
3, FERA Act
4. MRTP Act

Options:
1. %1
2. % 2
3.%3
4.¥ 4



Question Number : 138 Question Id : 39226621698 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Essential conditions for globalization. excludes:
I Government support
7.3 Competitiveness

Business Restrictions

fad

4. Infrastructural Facilities

Options :
1. %1
2. % 2
3.¥3
4, % 4

Question Number : 139 Question Id : 39226621699 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The country joined WTO as its 160™ member in 2013.

1. Yemen
2. Oman
3 Kuwait

4, Saudi Arabia

Options :
1.9 1
2. % 2
3.%3
4, % 4



Question Number : 140 Question Id : 39226621700 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Planning Commission was replaced with NITT Ayog. here

NITI stands for:
L. National Industrial Transforming India
2. National Institution for Transforming India
3. National Investment for Trade in India
4. National Institution of Tourism India
Options :
1. % 1
2.2
3. % 3
4. % 4

Question Number : 141 Question Id : 39226621701 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Integrated Rural Development Programme (IRDP) was
launched in the year:

1. 1968 - 69
2. 1978 - 79
3. 1988 - 89
4. 1998 - 99

Options :

1. %1

2.9 2

3.%3

4. % 4



Question Number : 142 Question Id : 39226621702 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The minimum age for entry under DDUGKY is:
1 14 years
2 15 years
3. 18 years
4. 21 years
Options:
1. % 1
2.9 2

3.%3
4, % 4

Question Number : 143 Question Id : 39226621703 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Causes of poverty don't include:
Population explosion

2 Low levels of wages

3. Success of Five year plans

4. Inequality in assets and income distribution

Options :
1. %1
2. %2
3.3
4, % 4



Question Number : 144 Question Id : 39226621704 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

NCAER stands for:

1. National Council of Agriculture Education Research
2 National Council of Applied Economic Research

3. National Council of Adult Education Research

4. National Council of Agriculture Export Research

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 145 Question Id : 39226621705 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The first Co-operative marketing society was started in India
in the year:

1. 1905
2. 1915
. 1925
4. 1935

Options :

1. % 1

2.9 2

3.%3

4. % 4



Question Number : 146 Question Id : 39226621706 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Brundtland Commission of 1987 defined Sustainability in
its Repott as:

1. Our Commeon nature
2. Our Needs and nature
3. Our Sustainable goals

4. Our Commeon future

Options :
1. % 1
2. %2
3.%3
4, 4

Question Number : 147 Question Id : 39226621707 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Availability of food grains per person per day is equal to:

1. (Availability of food grains for the year + Population) / 365
2. (Availability of food grains for the year x Population) / 365
s (Availability of food grains for the year + Population) / 365
4. (Availability of food grains for the year — Population) / 365

Options :

1.1

2. %2

3.%3

4. % 4



Question Number : 148 Question Id : 39226621708 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The farmers are paid a pre-announced price for their crops.
this price 1s called:
1 Maximum Support Price
2. Minimum Support Price
3. Minimum Standard Price
4. Maximum Standard Price
Options:
1. % 1
2.¥2

3.% 3
4. % 4

Question Number : 149 Question Id : 39226621709 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which 1s the single largest river development scheme in India?
Ii; Ganga Valley Development Project

2. Godavari Valley Development Project

L |

Narmada Valley Development Project

4, Krishna Valley Development Project

Options :
1. %1
2. %2
3.3
4, % 4



Question Number : 150 Question Id : 39226621710 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Sikkim 1s the first state in India that is planning to shift
completely to organic farming by the year:

L 2012
2. 2015
3. 2020

4. 2024

Options :
1. %1
2.¥ 2
3.%3
4, % 4

Question Number : 151 Question Id : 39226621711 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A Long-term debt instrument issued by the company under its
common seal is known as:

1. Shares
2. Debenture

Securities

L |

4, Fixed Deposit

Options:
1. %1
2.9 2
3.%3
4. % 4



Question Number : 152 Question Id : 39226621712 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
It is the situation. where it 1s not possible to provide any
benefit to a section without any harm to another section:
I Cardinal utility
2. Ordimal utility
3. Pareto’s optimality

4. Revealed preference

Options :
1. %1
2. % 2
3.3
4, % 4

Question Number : 153 Question Id : 39226621713 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Ricardo explained the law of comparative advantage, on the

basis of:
¥ Opportunity costs
.4 Economies of scale

(ad

The labour theory of value

4. Relative prices of goods

Options :
1. %1
2. % 2
3.¥3
4, % 4



Question Number : 154 Question Id : 39226621714 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A duty typically fixed to bring the price of an imported
commodity upto level of the domestic support price for the
commodity 1s known as:

i, Preferential Tariff
2 Bound Tariff

3. Escalated Tariff
4. Variable Tariff

Options:
1. % 1
2. %2
3.%3
4.¥ 4

Question Number : 155 Question Id : 39226621715 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The most controversial topic in the yet to conclude in Doha
Agenda was:

Trade n industrial goods

1
2. Trade in service sector iteims

LS

Trade in developing countries

4. Trade mn agricultural goods

Options:
1. % 1
2. %2
3.%¥3
4.¥ 4



Question Number : 156 Question Id : 39226621716 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Home — currency depreciation takes place, when there is:

1. An increase in the home currency price of the foreign
CUITENCY.
2. An decrease in the host currency price of the host

CUTCNCY.

An increase in the foreign currency price of the host

(8]

CUITENCY.
4. An decrease in the foreign currency price of the home

currency.

Options :

1.4 1

2. % 2

3.% 3

4. % 4

Question Number : 157 Question Id : 39226621717 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

At any point of time. all markets tend to have the same
exchange rate for a given currency due to:

1. Hedging
2 Arbitrage
3. Speculation
4. Trade equilibrium
Options :
1. %1
2.¥2
3.%3

4. % 4



Question Number : 158 Question Id : 39226621718 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

An investor makes a foreign investment in a business that 1s
unrelated to its existing business in its home country, 1s termed
as:

Horizontal investment

1
2. Vertical investment

(b

Conglomerate investment
4, Collaborative mvestment

Options :

1. % 1

2. %2

3.3

4. % 4

Question Number : 159 Question Id : 39226621719 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

An argument in favour of FDI 1s;
. Keep inflation under control
2 Promote rural development

Protect domestic industries

Thd

4. Increase access to modern technology

Options:
1. %1
2. %2
3.%3
4, 4



Question Number : 160 Question Id : 39226621720 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Former prime minister Nehru's visualization to build a
socialistic society with emphasis on:

1. Small scale industries

2. Agricultural sector

3. Foreign trade

4. Heavy industries
Options :
1. = 1
2. % 2
3.% 3
4. 4
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Question Number : 161 Question Id : 39226621721 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In 1916 studying of Social Science was introduced in this
Country

I India
2. United States of America
3. Britain

4. Germany

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 162 Question Id : 39226621722 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

*School is the miniature of India™ Stated by

1. Ravindranath Tagore

-2

John Dewey

L |

Gandhiji
d, Jiddu Krishna Murthy

Options :
1. % 1
2. % 2
3.¥3
4, % 4



Question Number : 163 Question Id : 39226621723 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“Graphia’” means
narration

1
2. earth

fsd

globe
4. plateau

Options:
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 164 Question Id : 39226621724 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Educationalist works on effective domain regarding
educational objectives

i Elizabeth Simpson
2. R.H. Dave

3. Benjamin. S. Bloom
4. David. R. Kroth hole

Options :
1. %1
2. % 2
3.%3
4, 4



Question Number : 165 Question Id : 39226621725 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
A student read newspaper and express his opinion goes to this
academic standard
L. Asking questions
2 Conceptual understanding
3. Read and comprehend the given text and interprets

4. Information skills

Options :
1. %1
2. % 2
3.¥3
4, % 4

Question Number : 166 Question Id : 39226621726 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

After completion of teaching learning program. this inculcates
specific behavioural changes in student

1. Learning environment
2 Learning ready ness
3. Learning program
4, Learning objectives
Options :
1. % 1
2. %2
3.%3

4.9 4



Question Number : 167 Question Id : 39226621727 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
One of the following was written by Lev Vygotsky
L Thought and Language
2 Cognitive theory
3. The environment

4, School and Society

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 168 Question Id : 39226621728 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the sequential order of steps in project method

a. Creating situations
b. Plan selection

¢ Plan scripting

d. Plan execution

A Evaluation

i Recording

1. a.b.cdte

2. a: b ¢ d e T

3. 2 boed ed

4, i b ced

Options:
1. %1
2.¥2
3.%3
4, % 4



Question Number : 169 Question Id : 39226621729 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

RTE-2009 Act come info force from
1. 1-May-2010

2. 1-April-2010

3. 1-June-2010

4, 1-July-2010

Options :
1. %1
2.¥ 2
3.%3
4, % 4

Question Number : 170 Question Id : 39226621730 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to NCF-2005 from which classes Geography.
History. Economics and Civics as Political Science shall be

taught
1. Classes 8. 9
2. Classes 5. 6

Classes 7. 8
4. Classes 6. 7

L |

Options :
1. % 1
2. % 2
3.%3
4.¥ 4



Question Number : 171 Question Id : 39226621731 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Approach that depends on “Any Science can’t be taught
comprehensively at primary level” principle 1s

1. Concentric approach
2 Spiral approach
3. Chronological approach
4, Correlation approach
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 172 Question Id : 39226621732 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Museum’™ 1s this type of Social resource.

1 Social and Cultural importance resource
2. Health importance resource

Public administration resource

(S ]

4, Scientific importance resource

Options :
1.9 1
2. % 2
3.%3
4. % 4



Question Number : 173 Question Id : 39226621733 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s considered as laboratory for teaching and learning
Social Science

i, Class room
2. Family
3. Society
4, Library
Options :
1. % 1
2. % 2
3.¥3
4. % 4

Question Number : 174 Question Id : 39226621734 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This type of chart is suitable to teach students about powers of
Supreme Court.

1. Flow chart
2. Strip chart
3 Table chart

4. Bar chart

Options :
1.9 1
2. % 2
3.%3
4. % 4



Question Number : 175 Question Id : 39226621735 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“National Gallery of Modern art™ auditorium 1s located here in
our country.

I Kolkata

2 Bangalore
3. New Delhi
4. Hyderabad

Options :
1. %1
2. % 2
3.¥3
4, % 4

Question Number : 176 Question Id : 39226621736 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Evaluation after completion of specific teaching learning
Process 1s

Formative evaluation
4 Summative evaluation
3 Diagnostic evaluation
4. Predictive evaluation

Options :

1. % 1

2.¢2

3. %3

4. % 4



Question Number : 177 Question Id : 39226621737 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Another name of lecture method 1s
1. Class method
2. Story method

Listening method

(8]

4, Telling method

Options :
1. %1
2. % 2
3.%3
4. 4

Question Number : 178 Question Id : 39226621738 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

All characters make body movements along with back ground
MUsIC 15

1. Tableau

2 Pantomime
3 Pageant
4, Brain Storming
Options:
1. % 1
2.¥2
3.%3

4. % 4



Question Number : 179 Question Id : 39226621739 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Teaching of situations in Thomas Alva Edison 1s
1. Biographical method
2. Evolutionary method
3. Anecdotal method
4, Socialization method
Options :
1. % 1
2. %2

3.4 3
4. % 4

Question Number : 180 Question Id : 39226621740 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Government shall take firm decisions for our country’s
Financial development™ express strongly 1s

8 Extrapolation
i Interpretation
3. Translation
4. Naturalization
Options :
1.v1
2. %2
3. %3

4. % 4



Question Number : 181 Question Id : 39226621741 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

German psychologist Wilhelm Wundt started Expertmental
Method in the vear

i 1870
2. 1874
3. 1877
4. 1879

Options :

1. %1

2. % 2

3.%3

4. 4

Question Number : 182 Question Id : 39226621742 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Rivers and Canals are indicated by this coloured line i maps

1. Red
2 Blue
3. Green
4, Yellow
Options :
1. %1
2.¥2
3. %3

4. % 4



Question Number : 183 Question Id : 39226621743 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Learning without burden
1. Ramamurthy committee
2. Yashpal committee

Nilekani comimittee

(8]

4. Majundar committee

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 184 Question Id : 39226621744 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following 1s not related in making maps s

1. Compass
38 Indications
3. Directions
4, Distance

Options :

1.4 1

2. %)

3. %3

4. % 4



Question Number : 185 Question Id : 39226621745 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Instruments that display through projector are
1. Non-Projected aids
2. Projected aids
3. Activity aids
4. Visual aids

Options :
1. %1
2.¥ 2
3.%3
4, % 4

Question Number : 186 Question Id : 39226621746 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Learning by doing personally enhances development. habits,
competencies will be high in life” started by

1. Bacon
2. Aristotle
3. Frobel
4. Anderson
Options:
1. % 1
2. %2
3.3

4. % 4



Question Number : 187 Question Id : 39226621747 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A student recognized important factors by analyse the given
problem. The objective achieved is

1. Knowledge
2 Understanding
3 Application
4. Skill
Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 188 Question Id : 39226621748 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

[t’s meaning or scope is wide in nature

1. Aim
2. Objectives
3. Goals
4, Specification
Options :
1. %1
2. % 2
3.%3

4.9 4



Question Number : 189 Question Id : 39226621749 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The method depend on the principle “Student can learn by
living™ 1is

i Observation method
2, Problem solving method
3 Experimental method
4, Project method
Options:
1. % 1
2. %2
3.%3
4. 4

Question Number : 190 Question Id : 39226621750 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The person who under goes experiment is called

L Experimenter
2. Observer
3 Subject
4. Investigator
Options :
1. % 1
2. %2
3.3

4. % 4



Question Number : 191 Question Id : 39226621751 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Problem will be given to students based on these levels

a. age
b. needs
£ mental status
1. 9. b
2. b.c
3. a.c
1. a. b

Options :

1. % 1

2. %)

3. %3

4. 4

Question Number : 192 Question Id : 39226621752 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The resources that indirectly explains about primary resources
in Social Studies are

. Written resources
2 Non written resources
3. Physical resources
4. Secondary resources
Options :
1. %1
2. %2
3.% 3

4. ¥ 4



Question Number : 193 Question Id : 39226621753 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Resources unit are primarily meant for
I, Observer

2. Teacher

Lad

Subject experts
4. Students

Options :
1. %1
2.¥ 2
3.%3
4. % 4

Question Number : 194 Question Id : 39226621754 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The process of Generalisation by observing specific
examples is

1. Inductive method
2. Deductive method
3. Analytical method
4. Synthetical method

Options :

1.v1

2. % 2

3. % 3

4. % 4



Question Number : 195 Question Id : 39226621755 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Evaluation 1s a process to know about achievement of
educational objectives™ stated by

1. Rolf Tailor

2. Tuck man

Td

Writing stone
4. Sriwan

Options :

1.4 1

2. %2

3. %3

4. % 4

Question Number : 196 Question Id : 39226621756 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is not curriculum based principle

L. Principle of child centeredness
2, Principle of community centeredness
3. Principle of practice

4. Principle of flexibility

Options :
1. %1
2. % 2
3.¥3
4, % 4



Question Number : 197 Question Id : 39226621757 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The first step in conduct field trip is
1. readiness
Z. plan designing
3. execution
4. evaluation
Options :
1. % 1
2.9 2

3.%3
4. % 4

Question Number : 198 Question Id : 39226621758 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Kydar-Richardson method is used to measure

1. question objectivity
2. question length
3 question validity
4. question reliability
Options :
1. % 1
2. %2
3.%3

4.9 4



Question Number : 199 Question Id : 39226621759 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Student marks i formative, sumumative evaluation will be
recorded here
1 Portfolio
2. Cumulative record
3. CCE register
4, Anecdotal record

Options :

1. % 1

2. %)

3.43

4. % 4

Question Number : 200 Question Id : 39226621760 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
No Scope will be given for personal opinions during
assessment 1s
1. Comprehensiveness
2. Objectivity

Td

Applicability
4, Validity

Options :
1. % 1
2.9 2
3.%3
4. % 4





